HRAERRE TR

BEE1220 + = EE1224
LT3 LT L &t
FRHEEL &8 -0%E 50 43 93
%) (53.8) {46.2) {100)
R EEL B 45 14 59
o (163) (237) (100)
BB EL L 29 51 80
(%) (36.2) (63.8) (100)
&&t 124 108 232
(53.5) {46.5) {100
P <0.001
S22
LTS LTl i
ERERY BE-hEE 19 23 42
& {(45.2). (548) (100)
BMEREN BE 30 8 38
I v A (9.0). (2o (100}
HHBEH L 14 22 36
(%) {38.9) {61.1). {100)
&5 63 . 53 116
(54.3). (45.7) (100)
P < 0.001
WEE122(
LT3 LTVl St
EHREY BE-hEE 3t 20 51
R ¢ (60.8). £39.2) {100)
RYARELE 5EF 15 - 6 21
B ) (71.4), (28.6) (100)
BRHERB L 15" 29 44
(%) (34.1) (65.9), (100)
&t 61 55 116
(52.6) {47.4) (100)
P <0005
SymA e LTmEL
B 12200+ 1 22
LT3 LTy &t
FHRXEY BE-4EF 41 52 93
o w 44 (55.9) (100)
BHBREH BE a8 21 59
, U ¢ N (64.4) - (358) (100)
mEEEH U 28 52 80
(%) (35.0) (65.0): (100)
=1 107 125 232
(46.1} (53.9) {100)
P <0.002

—128—




EH 1224

LTWL3 LTLvELY &t
RNERY BE-FE 22 29 51
% {43.1)- (56.9) (100)
FREEY BE 13 8 21
(%) (61.9) {38.1) (100}
ANERYH L 13 31 44
(%) (29.5) (70.5) (100}
&5t 48 68 116
(41.4) (58.6) {100)
P <0.043
SRR RHEL v —
BE 1220 + 312240
LTS LTy &t
ENRREY BE-EHE 44 49 93
oy . 47.3) (62.7) - (100)
BHEEL BE 25 35 80
) 417 (583} (100)
EHREL LU 60 21 81
%) {74.1) (25.9) (100)
&% 129 105 234
(55.1) (44.9) {100)
P <0.001
BEI122H
LTS LWL &
mHEEY BE-hEE 19 23 . 42
R O (45.2) _ (548) (100
FMEELE B 15 24 39
o (%) (38.5) (61.5) (100)
mRREH L 25 10 35
%) {71.4) {28.6): (100)
&t 59 57 118
(50.9). (49.1) (100)
P<0.011
HEE12200
LT3 LTl &t
ARFREY BE-pEE 25 26 51
W _ (49.0). _(51.0). ~ (100)
AR REY rE 10 11 21
I ) 18, (52.4), _ (o
BMEEL L 35 11 46
(%) (76.1) (23.9) {100)
=13 70 48 118
{59.3): {40.7) (100)
P<0011

— 129 —



DK B R SR F

BE 1220 + 3 E 1220
FEALTLD fERALTLVEL &5
AR BE-hEE 25 - 66 : 91
(%) (275) (72.5) {100)
FHAREH BF 18 42 60
N ¢V (30.0) (700} (100)
BHRBES L 9 72 81
(%) (1.1 (88.9) {100)
& 52 180 232
(22.4) (71.6 {100)
P <0.006
m&H122(A
ERLTLS FEALTLEL =118
FRRRH BE-EK 10 H 41
) N _ (244 . (158) (100}
WP EH WE 8 31 39
R ) R (208) _ (795) _(100)
melEl AL 1. 35 36
%) (2.8) (97.2) (100)
1.1 19 97 116
(16.4): (83.6) (100)
P<0.010
HEE 122
HRLTS FHELTLMEL &
FHRELE BE %R 15 . 35 50
I ¢ ) R R 1) R _ . (oo, (100)
FRHERELE WE 10 . 1" 21
R &) R R €. £ - S {52.4). ~(100)
ANARE Tl 8 | 37" 45
(%) {(17.8)| (82.2) (100)
=11 33! 83 1186
{28.5)] {71.5) {100)
P <0.044

— 130—




2. BB

12 mR7IILTE (3.0g/dkF)

EFE12240 + #1220
mE7ILTZ30g/d MEBEFALTS3.0g/dl &zt
] BLE =e
FIE HU 10 22 32
tY; (312) (68.8) (100)
FiE LU 15 114 129
(%) (11.6) (88.4) (100)
S 25 136 161
{(15.5) {84.5) {100)
P=0012
DFWEATFOE L (11.0g/dEH)
gF 122+ AR 12200
~TTBEL1I0g/d - AT OEL110g/dl P
*ﬁ LJJ: [=N-]
BE HY 22 19 41
o ® N B (46.3). ) (100
BE G M 95 136
(%) (30.1)+ {(69.9) {100)
=11 63 114 177
(35.6) (64.4) (10Q)
P=0.007
Bs122(8
AEFOE110g/dl AT OE 11 0g/dl a5t
ES ] LLE =
FiE &Y 15 14 29
R o s (48.3) (100)
B L 12 43 55
(%) (21.8). {78.2) {100)
a5H 27 57 84
(32.1) (67.9) (100)
P=0.007
NBRMEtEf TR
BE122(0+ 312200
LT3 LT a5
FiE HY 40 18 58
R < L _f8s.0oy (310, (100)
ZIE il 90 | 92 182
(%) (49.5)! {50.5). {100)
=11 130 110 | 240
(54.2) (45.8) {100)
P=0.010
BE122M
LT3 LTy &5t
ZiE HY 32 11 43
R . ) (144) (25.8) {100}
FHE L 34 44 78
(%) (43.6) (56.4) {(100)
&t 66 55 121
(54.5) (45.5) {100}
P=0.001

—131—



A METAME E

mE 12204 B 220
LT3 LTLMAELY it
FIE HY a7 21 58
%) (63.8) (36.2) (100
2B L 75 107 182
{%) (41.2) (58.8) (100)
& 112 128 240
(46.7) {53.3) {100
P=0.003
mE12248
LT3 LTy SE
FIE HY 29 14 43
o (67.4) (32.6) ~(100)
FE L 3z 46 78
(%) {41.0) (59.0) {100)
& 61 60 121
{50.4) (49.6) (100}
P=0.007

—132—




3.E Mg

DERBEALFERRE D)
BEi122(+ 12240
#o FoLs &&t
ERER E% 33 117 150
%) (22.0) {78.0) {100)
EREH A 33 29 62
)] {53.2) (46.8) {100)
EWER W 8 2 10
(%) (80.0) (20.0) {100
&&t 74 148 222
(33.3) {66.7) (100)
P<0.001
BEI22
#n #Fous &&t
ERER ER 16 55 71
%) {22.5) (77.5) (100}
RHEE A 17 17 34
_ (%0 ) (50.0}; (50.0) (100}
EEER W 7 T 8
(%) (87.5) (12.5) {100)
SE 40 73 113
(35.4) (64.6) (100)
P <0.001
*HEa122{0
#0 O LA r=%11
ERER EE 17 62 79
) (21.5) (78.5). {1000
EWEM wa 16 12" 28
) (57.1) (42.9). (100)
RERE B 1 1 2
(%) {50.0) (50.0) (100}
&t 34 | 75 109
(31.2) (68.8) (100Q)
P <0.002
DEMERELGLIER
BHEI122 - 1220
LTS LTV &
EWEE EHE 67 98 165
_ (%) (40.8) (59.4) (100}
REEM BA 55 9 64
%) (85.9) (14.) {100)
EERE EbF 8 3 11
%) (72.71) (21.3) (100)
&Et 130 110 240
{54.2) (45.8) (100)
P <0.001

—133—



BHE1224

LT3 LTV &&t
REER T% 30 46 - 76
Y (39.5) (60.5) (100}
EREN Ba 30 6 36
%) (83.3) (16.7) {100
EREN ek 6 3 9
(%) {66.7) (33.3) (100)
&it 66 55 121
{54.5) (45.5) {100)
P <0.001
*EE12240
LT3 LTLVELY &5t
ERER EW 37 52 89
T ) . U () ) S (58.4) (100)
EEEE A 25 3 28
N G  (89.3) (10.7) (1007
ERRRE R 2 0 2
(%) (100.0) {100)
&t 64 55 119
(53.8). (46.2) (100}
P <0001
DEMBREFERMEL
BE 1220 + @122
LT3 LTV =i
EREMS EE 63 102 165
o % ) , {382y (61.8) - (100)
EREN B4 39 25 64
(%) (60.9)° (39.1) (100)
EREE He 10 1 1
(% {90.9) {9.1) {100)
=11 12 128 240
{46.7) (532.3) (100
P <0.001
BEi1224A
LTLvA LTty B
EREMN E% 32 44 76
s B o RCYR (57.9) ~(100)
EREN B 21 15 36
o W) (58.3) (41.7) (100)
RN e 8 1 9
(%) (88.9) {11.1) {100)
& 61 60 121
(50.4) (49.6) (100
P <001

— 134 —




¥ 12240

LTS LU &5
EWEH &% K| 58 89
o W (343), (65.2) (100}
HERER B 18 10 28
(%) (64.3) {35.7) {100)
ERER Btk 2 0 2
(%) {100.0) (100)
&% 51 68 119
(42.9) {57.1) {100)
P<0.004
NERBRAL YT —
mE 12200 W22
LTS LTLVgL &5t
EWEE EE 100 . 66 166
G (60.2) (39.8) _(100)
ERER B 30 35 65
B (46.1) (53.9) {100)
ERER w5 3. 8 11
(%) (27.3). (72.1 (100)
EH 133 109 242
{55.0). (45.0) (100}
P <0025
wER 12240
LTWhg LUV =
ERER E%E 59 ° 32 99
) (64.8) (35.2). (100}
EEER mBa 13 15 28
R ¢ R (46.4) (53.6). (100)
EMEE £ 0, 2 2
%) : (100.0) (100
&&t 72 49 121
{59.5)! (40.5): (100)
P<0.036

~—135—



4 BHBIET

1 EBREBETERERDGEED)
BE 1220+ w2260
#0 EOust Hi
B HE BA B 25 111 136
% (18.4) (81.6) (100)
ELLTELN 38 36 74
% (51.3) (48.7) (100)
B ESE 13! 1 12
(%) {91.7) (8.3) {100}
&&t 74 148 222
(33.3) {(86.7) {100)
P <0.001
BE 1226
270 #0ous &it
B AR 14 56 70
(%) (200) (80.0) (100)
EFBETHL 20 16 36
& (55.6) (44.4) (100}
BRI SE 6 1 7
(%) (85.7) (14.3) {100
HEt 40 73 113
(35.4) (64.6) (100)
P <0001
12200
20 #oels &t
B HX HEBAR 11 55 66
% _ ) (16.7) (83.3) (100)
EBLTHEL 18 20 38
_ (% o (47.4) (52.6) (100)
B EE 5 0 5
(%) {100.0) : (100)
&% 34 75 109
(31.2) (68.8) {100)
P < 0.001
2)BEBRBE T EEER
BE12207 + wE1224A
LT3 LTULAzLy &t
B s DA 51 95 146
)] (34.9) (65.1) (100}
FELTHIGEL 86 14 80
OB (82.5) (17.5) (100}
Bigi e S 13 1 4
(%) (92.9) (7.1 (100)
&t 130 110 240
(54.2) (45.8) {100}
P < 0.001

— 136 —




BE12200

LTW5% LUV =1
E iR neoRg 27 48 75
(%) (36.0) (64.0) (100)
EE5THAL 32 7 39
%) 82.1) (18.0) (100)
B E S 7 0 7
(%) {100.0) {100)
&E 66 55 121
(54.6) (45.5) (100}
P <0.001
xEi1220
LTS LT =11
B iR AR AR RS 24 47 71
(%) (338 (66.2): _{100)
EBLTHE 34 7 41
) (82.9) (17.1) (100)
B AE S 6! 1 7
(%) (85.7)' {(14.3) (100)
&E 64 55 119
(53.8) (46.2) (100
P < 0.001
EBEBETEHEAELE
EE 1220+ E 1224
LT3 LTLMiLy &t
Bk RE e 43 103 146
(%) (29.5, (70.5) (100)
EBBLTHEL 57 23 80
(%) (7.3) (28.7) {100)
Bk B 12 2 14
(%) {85.7) (14.3) (100)
Bt 112 . 128 240
{46.7) (53.3). (100
P <0001
EE1220
LTS LU a5t
Bk asanm 26 49 75
% (34.7) (65.3) (100}
EBLTHEL 29 10 39
() (74.4) (26.6) (100)
B g 6 1 7
(%) (85.7) (14.3) (100}
&% 61 60 121
(50.4) (49.6) (100)
P <0.001

— 137 —



wE122(0

LT3 LTl =113
E ik aEaa 17 54 n
(%) (23.9) (76.1) (100)
EE5THIEL 28 13 41
(%) (68.3) 3N (100}
Bttt Sk 6 1 7
(%) (85.7) (14.3) (100)
&E 51 68 119
(42.9) (57.0) {(100)
P < 0.001
) ERREBETE »I—
mE 12200+ 312200
LTLS LTLAMGLY &
B REEA R 97 - 51 148
® ] {655) . (345) (100)
FHLTHIL 36 44 80
T . R _450) . (55.0). _ (100
BRI 0 14 14
(%) {100.0) {100)
ait 133 109 ; 242
{55.0) {45.0) {100)
P <0.001
BmE122M
LTS LTLvEL =118
B ik e AR 46 29 75
)] (61.3) (387 - (100)
EhioTHLL 15 24 39
T ¢ S .85 __(61.5), (100)
BRI EE 0 7 7
(%) (100.0): (100)
=111 61 60 | 121
(50.4) (49.6)! (100}
£<0.001
w1224
LT3 LTLMEL &t
BRURAEDAR 51 22 73
L w (69.9) @ (100)
ELELTHIEL 21 20 41
ALt A ety (48.8) (100)
B EE 0 7: 7
(%) . (100.0). (100)
=11 72 49 121
(59.5) (40.5). {100)
P <0.001

— 138 —




S) MR BETLERT

B 12200+ A1 228
FEALTLD . fERLTL VL S
EK AR 26 122 148
W (17.6). (82.4) (100)
EBLTHE 25 54 79
&% 1)) (68.3) (100}
B R 2 11 13
(%) (15.4) {84.6) (100)
=¥ 1 53 187 240
(22.1) (77.9) (100)
P <0048
w1229
FALTLS ERLTL | &&t
g8k LT 14 58 | 72
. I AL T (8os) _ . Qoo
FE5THLLY 19" 21 40
) . (47.5) __(825) ; (100
EiSEBE 1 5 7
%) (14.3) (85.7) (100
&t 34 85 119
(28.6) (71.4) {100

— 139 —

P <0.006



B.AEGIMERET

DS mB T LT =0 (3.0g/dIKH)

B¥122
A7 AT A0g/d MEFILTZAA0g/dl a1t
ki BLE =
(R IFESR 1 30 31
(%) (3.2). (96.8) (100}
FLdEEROAD 5 16 21
)] (23.8) (76.2) (100)
FREFedTERL 8 16 24
(%) {33.3) (66.7) {10D)
& 14 62 76
(18.4) (81.6) {100)
P <0.006
2) RS SFRBIGE (FO)
BR 12200+ R1220
20 gFoost &8t
FEIHEH TR 9 75 84
L {10.7). (89.3). (160
R ERLNnD 20 51 1
, (%) (28.2) (71.8) {100)
(Bl He TELN 45 . 21 66
%) (68.2) (31.8) (100)
it 74 147 221
(33.5) {66.5) (100}
P < 0.001
mE1220
£0 : 2oLy &t
(Rl EH 5 36 . 4
% (12.2) (87.8) {100)
RiigBoh s 1. 26 37
% 297 (70.3) {100)
A e (TELL 24 10 34
(%) {70.6 (29.4) {100
&5 40 72 | 1z
(35.7) (64.3) (100)
P <0.001
#2240
#0 oLt &
PGS 4 39 . 43
) (9.3) (90.7) (1009
ek $EI LY Ot 9 25 34
G (26.5). (738) (100)
Fitis e TELn 21 1 32
(%) {65.6) {34.4) {100}
&5t 34 75 109
(31.2) (68.8) (100)
P <0.001

— 140 —



SHE G & AR RS #A i /F (100mmHEg)

wEi2200
HRHR U 0 £ 100mmHg 2R - % g 4 0 100mmHg ) o
.ﬁ J: C!n+
FEHEFIE 8 27 35
(%) (22.9) (77.1) (100)
Fu#tisBEohd 2 32 34
(%) (6.9) (94.1) (100)
A HeTERN 2 30 32
(%) (6.3) (93.1 (100
=1 12 89 101
{(11.9) (88.1) {100)
P <0.054
A EIHFEA TR
EE1220+ 3 E122
LT3 LTV : &8
LIS IEE 6 84 . 90
B [CY R (6.7) (93.3) (100)
FirigiERohd 57 21 78
W n (26.9) (100)
(Rl (TELG N 66 5 |
(%) (93.0) (2.0) {100)
&t 129 110 239
(54.0) (46.0) (100)
P <0.001
mE 12280
LTg LTt : 8
E{sisEs 5 41 46
%) (10.9) (89.1}) (100)
B ohd 27 11 38
¢ _ (711.0) (29.0), (100)
Kl (TEGL 33 . 3 36
{%) 91.7): (8.3} (100)
St 65 55 120
{(54.2) (45.8) (oo
P <0001
w1224
LT3 LT BE
REHFEE 1 43 44
(%) (23) (97.7) (100)
FEEFRLND 30 10 40
(%) (7500 (25.0) (100)
Rl e TELn 33 2 35
%) (94.3) (5.7 (100)
&t 64 55 - 119
(53.8) {46.2}. (100)
P <0.001

— 141 —




S)kfusRrLmAMEL

B 1220+ w1220
LT3 LTLvRLy &&
(RATHIIES 14 78 90
(%) (15.6) (84.4) {100)
AR LND 44 34 78
(%) {56.4) (43.6): {100}
FERFRCTELZN 53 18 i
%) 4.7 {25.3) (1000
&t 111 128 239
{46.4) (53.6) (100}
P <0.001
EE 122
LT3 LTV =1
EI#HES B . 38 46
I & , (14 (82.6) ~(100)
HluHFRohd 25 13 38
_____ e Y. (858 (342 _(100)
Rt (TELL 27 9 36
(%) (75.0) (25.0). (100}
=113 60 - 60 | 120
(50.0) (50.0) (100)
P <0001
w22
LT3 , LTLMRLY ; &kt
R iFER 6 38 44
A ¢ ) ) {138 (86.4), {100)
Rl EBRLI NG 19 21 40
) S , (415) (52.5) (100)
KL (TELN 26 - 9 35
(%) (74.3) (25.7} (100)
C1 51 68 119
(42.9) (57.1)° {100)
P <0.001
6 fEMEL v —
EE12200+ 12200
LTS LTLVELY &8t
LB EY 68 22 90
R ¢.) I (758 (244 (100)
17300k -2 1T 4R a4 35 79
U &) R S 657 _ {44.3) _(100)
EiritiFeTELE, 20 52 ! 72
(% (27.8) (72.2) (100)
=11 132 109 241
{54,8) (45.2) (100}
P<0.001

—142—




B 1220

LTS

LTl

[=N]
HREHFEE 32 13 45
® (71.1). (28.9) (100)
RGBS h A 20 18 a8
% (52.6) (47.4) (100)
HlrttiE e TELZN 8 29 37
(%) (21.6) (78.4) (100)
=1 60 60 120
(50.0) {50.0) (100)
P <0.001
w1220
LT3 LTyl &it
R{fiFrs 36 9 45
) I ) (80.0) . (2000, (100}
FEHRBELNhD 24 17 41
) ) 1. (585) (41.5) (100)
R (TELL 12 23 35
% (34.3) (65.7) {100)
&t 72 49 121
{59.5) (40.5) (100)
P <0.001
THEGHE R B b
mE 1220 + 6B 122A
FHALTLS AL TV =111
R ESE 9 81 )
) N (10.0) (90.0) (100)
EXITED £ E IRy ) 32 46 78
o (%) I 40 (59.0) {100)
e TELL 11 60 EA|
(%) (15.5) {84.5) {100)
18 52 ° 187 239
(21.8) (78.2)! {100)
P <0.001
EE1224A
FERALTLS AL TULVL &t
(R{iFTE 3 43 46
A ) o 65 _ (93.5) (100}
FEHFEBLhD 12 26 38
R ¢ R _(318) (68.4) (100)
FEFedTEian 3 33 36
%) (8.3) (91.7) (100
&t 18 102 120
(15.0) (85.0) (100)
P <0.004

— 143 —



wEE122(0

FALTWLS

FRLTLVRL

[=):]
FAIFHEY 6 38 44
(%) {13.6). (86.4) {100
FufiFRohd 20 20 40
%) {50.0) (50.0) (100)
(Rl 2CTERED 8 27 35
(%) {22.9) (1.1 (100)
&5 34 85 119
{28.6) (71.4) (100
P <0.001

— 144 —




6.ReHit e

DT MREEATYOE Y (1.0g/dIkE)

BE12240
AETOEL110g/d ~AEFREL11.0g/dl a3t
E Lt =
FAEi G BE-pEE 7 12 19
) (%) (36.8) {63.2) (100)
BRERRE S 9 7 16
(%) (56.3) (438) {100)
BEETHIHE L 10 33 43
%) {20.8) (19.2) (100)
&t 26 57 83
(31.3) {68.7) {100}
P<0.028
2) BapTr e & R MR GE (20)
B 12200+ 5 2240
#0 gOps Sk
PETaNE BE-h%EE 16 43 59
L (7.1} (12.9) (100)
e BE 22 14 36
s (61.1) (38.9) (100)
BEERtRE L 35 90 125
(%) {28.0) (72.0) (100)
&t 73 147 220
(33.2) {66.8) (100)
P<0.001
12248
#0 g0oes =1
RaEninME BE-PHEE 7 21 28
® (250) (75.0) (100}
PEhiaE S 10 2 12
o (83.3) (16.7) (100)
AR Tl 17 52 69
(%) (24.6) {(75.4). (100)
E=1- 34 75 ; 109
(31.2) {(68.8) {100)
P < 0.001
3) st
EE 12200 + 31226
LTS LTV =
e BE PE%n 43 18 61
Com (105) (29.5) (100)
PRE G =R 32 6 38
G (842) (15.8)! {100)
FaEi e L 53 86 - 139
(%) (38.1) (61.9) {100)
&% 128 110 238
(53.8)' (46.2) (100)
P < 0.001

—145—



BE 1220

— 146 —

LT3 LTy &5t
PaEiRNE BE-DEE 21 10 3
R ) B 877 (323), (100)
PRES IS Wi 20 , 6" 25
% (76.9). {23.1) {100)
BEIaE AL 23 39 62
(%) (31.1) (62.9) (100)
&t 64 55 119
(53.8) {46.2) £100)
P <0.001
wEB12200
LT3 LTl B
EREhiaie BE-GSE 22 8 30
R ) R o (733 o (267 (ico)
PR = 12 0 12
R ¢.) B _ ooy, {0y _ {100)
Mt AL 30 ! 47 77
(%) (39.0). (61.0). (100)
=113 64 ! 55 119
(53.8). {46.2): {100)
P <0.00
48385 RE S AN 1
EBF 1220+ H 12280
LTS LTy =X
BEm BR hEE 27 34 1 51
R ) B 443) (55.1)}, {100)
BEEiNE BE kL 8, 38
) G (79.0) (210) {100)
BREEE L 53 . 86 . 139
{%) (38.1) (61.9) (100)
At 10 28 238
(46.2)! (53.8)| (100
P <0.001
fBE122(0
LTS LTV &5
e BE-hEE 15 16 3t
PR ) B — (484 (518 . (100)
RAEmME & 19 7 26
W oo o l269) {100)
EEE AL 25 a7 62
{%) (40.3) (59.7) (100)
a4 59 60 119
{49.6), (50.4} {(100)
P<0017




w220

LTLvd LTV &
it BE - PEE 12 18 30
B ¢ ) DU _ (400) (60.0) (100)
FREifE =E 11 1 12
)] 91 (8.3) (100)
BN Gl 28 49 17
{%) {36.4) (63.6) {100
& 51 68 119
(42.9) (57.1): . {100)
P <0001
5)EEiMGL T —
BE 1220+ E12200
LT3 LTy &5
RS BE-EE N 3t 62
) e __.(500) __ (500, (100)
e BE 14 24 38
. _ (36.8) _...e32) _(100)
g L 87 53 . 140
% (62.1): {(37.9): (100)
&t 132 108 240
{55.0): (45.0) (100)
P<0014
6) B i fang LB T
mE 12200+ AR 12200
FERALTLS FRLTLEL &it
POEINE BEE-hEE 20 . 43 63
. ) o I 1 ) (68.3) _(100)
MEEnE =5 4 34 38
I - (105): (89.5) (100)
i LL 29 108 137
{%) (21.2) (78.8) (100)
it 53 185 ; 238
(22.3)' (77.7)' (100)
P <0036

— 147 —




